1
™~
AN
I
LN
H
AN
—i
-
(@Y







s

W [E]E#%E1966170

pu]|

JEEAER

BAUEE188310
O] fE 3R 595.8%

xR A

P& A8 DL B 12
%5 IREE - TLEERGH
b DI EER LA
HVeOE P& K60E/NE
(BB LEEF R =2:3:5) -
ENBEelD BEERN
INEAIEES .
aHEEEIE/NEK]11E
hE2E - BEBRA -

REBARME—DHESE
2

=

¥ - 188317

SEEiSi
2012 4-5°




N=1877, missing =6



mh)

400
350
300
250
200
150
100

50

257,13.7 %

289, 15.4% 282, 15.0%

336,17.9%

.

I\7

N=1877, missing=2

363, 19.3% 350, 18.6%







B72.9%N=Eh&
Yl Faﬁﬁ—
SHNIEE BEiE

B on

m i —Z A m £ 1{E 2 AU

= 4—Z2mfE B A " == h{EHA
m A FRIE Ll E " RIEABEREER M

N= 1863, invalid = 19, missing =1



B12.9%N=eh&
HEAZBAES

B43.7%N5h&

HEEEE—=
A 2R

H156.6% 245

— oo —— — B ERZERES n 5EH—EMRK
== ,Hﬂ ?: //l\ 1=} Iﬂﬁ -/"Q " BRA—EMXR R CERAE—R

mEBEFrFETIE K " HIEABERBBERN M
N= 1861, invalid = 19, missing =3

B mn



PN IR AR

750,
41.6%

A
CED

A
CALANED
A A
AAYIA

PS OTHER

RUERIUE
909,
50.4%

N= 1803, missing= 80



2011 /124,

EES LI

H- y
£ AE145813,200

¥

56.6%Z 4

— B3
EE2HHEE MmN BEEN
= aQ

41.6%E 4




=SS /KEEEA - NEES RS




f PO

s 7N (1,084 N, 62.8%)H05

AhE a/NA BIBKIETE

EHMERE - BRBKIEIE

641\,
37.2%

N=1725, missing= 158



ABEBKINEERNIRE

A BEEKEZHEAZAR " ARREERE L (515A,

53.6%)& " B/NMBEENEIE J (460, 47.6%)

AEREEE
H/NEENEIE 460, 47.6%

& [ IRERE ORI REBE
L E NP
i B H B
REEHE S B Ay TS
HithRA

15, 53.6%

283, 29.4%

202, 21.0%

0 100 200 300 400 500 600

N=961, invalid =123



2B BEKIEENRE

RAETERKEZHEERS " wEBBKEATLE ) (347

A, 61.0%) 5 " BIEKBIEE | (221 A, 38.8%)

me B EKEALATE
Big/KERE 221,38.8%

SHEEHEME M 142, 25%

347,61.0%

BiEKAE 101, 17.8%
tRE S K8 61, 10.7%
Hih[R A 36, 6.3%

BRI A B BIE /KB 1T A 16, 2.8%

0 50 100 150 200 250 300

N=569, invalid =72



U NSENBEEKEE

XX

\EEHBEKIEIBERS(540A, 75.0%) - (BE2HE

E(544\, 54.1%)HIBIBKIBIERD -

nE EgH
1084,
62.8%

JNES

AaA]

N= 1725, missing= 158, p<0.005



fld B3 A ok —

7 5%, 23

FI/L:\ % %j:

& ARV 7K

2
AN

s A

1
A




R oLRKNt G ESE
& 51

459,
25.0%

N=1833, missing=50




E:Z 7:”]//]\\ 7J< El/] ﬂﬂ)%

o

RIS RN K ARTZRIH /5
&% 857, 49.8%
BE)5 /IR B R 747, 43.4%
BEFAE/KEA 724, 42.1%
S 32 469, 27.3%

3 S 10 P 421, 24.5%
BEE /B2 421, 24.5%
B 421k 358, 20.8%
NHEEZEEE 350, 20.3%
T 80, 4.6%
<HIOK 70, 4.1%

//J\\K 1%6/?:9/] ﬁ/ﬁﬁﬂﬂﬁﬁ 68:4-0%
i 19, 0.5%

0] 200 400 600 800 1000

N=1721, invalid=161



IR K AR5 ¥ B IS KBRS E

5= 4 > — A BRKRSEEE R
o) & [ 75 REENEEKE s EEEEKE
(33.6%) F- 11 = RBETATE

& 12 A0 7 7K B 78
MmiE B EKE

221,
12.3%

N=1793, missing=90



FERARLIF/NEGE
N B RS

>

L]




.

[ITHN
ITLH

. EPERANHBEIERENEE

- J
o8 A £ £ K L B R AE A -

RSP EEINABRNE  SMBELABRT

B RSSEREBENES  TREESHEH
&l - BlNEE R R A E B R S A

e

<
S

0o 0O




2% BUTEMENEN S E R

N
0 HREEOABBAENY 41 6%)5’]" TE5E1EB
EEIENIRER - SEEAS/ A2 TS
BiEEg -

o BRBUMEIER LEIWENEE REE
maxENE Z e A tiFEIZBBREERINE -

BUR /M E R A B 7 -




5% U IR 22 FLa it A N 5@ 78 7K AR 55

e
0/ N E

B2 4808 7 =

offEBANRNKEEAR @ £
BKERNRER - AL - &3 Eﬁlrﬂﬁﬁfﬁﬁﬂﬁ

Aﬁi@ﬁﬁ(k@]% LB NE ~ 8y - B2
FEEINNNEEZ- VI Q- i




[T
I
ik

%)L ) ZIK; El G T EET%T //J\\ K/\\\BE.B%J E/]IE l_/_\j

21EmEv1399fEE

A5 MR TZAN B

ﬁ%%/ﬂ\\ 7J< E/‘J HE%% ‘
e F: 8 A 72 (B |E i = = 3t B
Jﬁj y = | B{FERIRIERIHEE
' F .4 L 7¥< ERIBI T - DUZZ
p . 7 R 7J<:|_\\ fHEtE . -

D CEEETERTI R
4 BN R
S KRR R - A ETRARY
; 1 /T? E HT /7ﬁ Ejj 1) JEREE % ? /@Z
. L GREEENEIER




“Texmm

BRI (P =8
2

g2 =BF

53
//%E)-L/L,\ E_%(Ej:%_ )




R B AR E—

a7

=)

=

=)



